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25 =l
Bu: EX U ASDL
Sl ROIENEY (B9 ®R)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 140,000
= 210,000
03 QI 2t EF AN HI 350,000 148,000 202,000
O MASE D2 22dd XNEAY
5,000,000& x70= 350,000
= 140,000
= 210,000
SEUIEZH AL (HEALY) 420,000 420,000 0
402 SI2FXHE0| & 420,000 420,000 0
01 CI2ZEXIE AN EXZ (M) 420,000 420,000 0
O =ZCIHTUAIS (HEAIY)
3,000,000 x140= 420,000
MASSUUHESZS ROINXSAY 28,800 23,400 5,400
501 X3 28,800 23,400 5,400
01 QI2tE X3 28,800 23,400 5,400
O NASSUAUHESZS 20K ALY 28,800
BIZTHA 3 UBRSA 160,000 80,000 80,000
& 80,000
= 80,000
402 SI2FXHE0| & 160,000 80,000 80,000
& 80,000
= 80,000
02 BIZtXIEANYEX(0OIETHH) 160,000 80,000 80,000
O BIETHAM 5 Ust2A 20,000,000 x8= 160,000
o=t 80,000
= 80,000
ANSEY M3IZ AMEsS HIIHEEA 6,000 21,460 A 15,460
401 Al HI L 2 0HHI 6,000 21,460 A 15,460
01 Al& H| 6,000 21,460 AN 15,460
O H3Z=E AMES XNESE Qs AEHHZAHZERESE
B 2d 1,500,000 x40 = 6,000
SN A sELXNRAIY 79,998 26,666 53,332
= 39,999
= 12,000
= 27,999
402 12t X0l ™ 79,998 26,666 53,332
= 39,999
= 12,000
= 27,999
02 CIZEXIEAIS E X (0| M THS) 79,998 26,666 53,332
O Mot EdsE2d XIAY
26,666,000 x3= 79,998
= 39,999
= 12,000
= 27,999
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EX 2 A=2E
2018

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SHE H=HE BIEEHAY 70,000 70,000 0
< 35,000
s 35,000
402 2I2H X201 M 70,000 70,000 0
< 35,000
s 35,000
02 2IZE 2 A EZ(OI XM TH ) 70,000 70,000 0
O sHE HI=AE g EHAY
3,500,000& x15=+2,500,000& *7 = 70,000
< 35,000
s 35,000
SSFEHACI XS AIS (24]) 160,000 50,000 110,000
402 QI2H X201 M 160,000 50,000 110,000
01 2I2F 2 AL B (REMTH ) 160,000 50,000 110,000
O SsFe2e X3 AY
20,000,000& 8K X 160,000
NEE S 2tel 376,478 394,067 A 17,589
< 39,946
[ia 336,532
S8 EXNEE 22| 86,683 71,091 15,592
201 Let24E] 76,683 59,091 17,592
01 At 22l 28,201 16,241 11,960
O NP 9428 226 g3 7Y
96,000& x133] 1,248
O NXNpH 428 226 AN 7
150,000& 2 300
O NNB2 28 S2s UEA S0
253 10,0000H 250
O NNYBALE ANSBE 7
60,000& x103] 600
O XNHQAMelE Ty EY 7¢
250,000 *2CH x4 3 2,000
O NHQAPR A2 st S20AH
8,000& »4H x602] 1,920
O XN&EQAX™Hel 8 Zed =2
225,000 x1CH * 13 225
O XNE==HZNE Hteld 22 49,5003 «20 990
O SEgsge3l ARLEFU(EH, 2422
& g) 247,500 = 1CH 33| 743
O XSz ZUT A3 BRSE
6,700& *2,9000H 19,430
O EXNOISAEAM BH2IH 7L 16,5002 304 495
02 =224l 48,482 42,850 5,632
O PSUESEIRANLE RAES
360,910,000 x9% 32,482
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2N

E¢& ot
M EX Y HA=22
©e: NP (29l 8)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O 2o dUEH SHALAH FANE=
150,000,000& *10% 15,000
O XNEND 257 RAES
10,000,000& *10% 1,000
202 O4dl 10,000 12,000 A 2,000
01 =S LH YI 10,000 12,000 A 2,000
O XNESSHA - EXOISK & ST2HFA Al
22 88T A =AU 10,000
E2HFA B0 & 22 56,201 54,456 1,745
201 Let24d] 596 661 AB5
02 8323l 596 661 AB5
O Mg DX DA E EE2E REZ 120
—ggred 380& 20004 76
-s02H 44
O T2 B0 s Editha 283
200,000& x13] 200
O ANERIINFATEANAH 0|SSH S
23,000& +12& 276
308 XXIEtH S0 A 23,605 21,795 1,810
113/ 2SoHUHSZAEEALS I 23,605 21,795 1,810
O S2YZL HEAAH QX2 L 29X
= 18,366, 000& 14 18,366
O Eg28FzlI2 glE
5,239,000 » 14! 5,239
401 Al HI 2 28I 32,000 32,000 0
01 A& HI 32,000 32,000 0
O E28x4 HUAIEZ2 EX 2 RANES 32,000
~CEYE AR L RNES
15,000, 000& 14! 15,000
-2 E HESEX 400,000& *30H 12,000
—ZEHSH M AME DHAEX
10,000& 5004 5,000
SAHEE 2 & 2e| 75,440 19,890 55,550
401 AIEBIZ 28I 75,440 19,890 55,550
01 A& Bl 75,440 19,890 55,550
O NBISR2AAHAZSKAH HEHE U =2
111,100 »500& 55,550
O IIINEBEXN ZAES 117,000& *170& 19,890
2L GUHAIEES EX & 2l 102,667 122,630 A 19,963
< 23,300
s 79,367
401 Al I 28I 102,667 122,630 219,963
< 23,300
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SN HE B (BH) - HRAY - B

Off &t 24

=

i
2m

79,367

01 A& HI

O =28 AUHANE=

EUNLY

EUNLY M

M H

102,667 122,630
40,000

8,000
32,000

35,000
7,000
28,000
16,667
5,000
11,667
11,000
3,300
7,700

A 19,963

paa
Ja
0y
it

NIAHS X H HE A

VR

18,913 0

5,674
13,239

18,913

401 AIEHIZ 2 I

EUNLY

18,913 0

5,674
13,239

18,913

01 A& dl

e E-F-1

fon

AIASXIH B AY

i

Mo

18,913 0

18,913
5,674
13,239

18,913

YA 0lS3AH FHl At

Mo

36,574 0

10,972
25,602

36,574

308 MtXIEHMSOIH

M H

36,574 0

10,972
25,602

36,574

[EF At

_?,
H HHIAL

M

36,574 0

36,574

10,972
25,602

36,574

M

145,884

62,452
83,432

117,395

28,489

HEZAIRIOL A 22|

MW

124,904

62,452
62,452

106, 182

18,722

[he}
2
ne
=
Mo
02
o

MW

118,244

59,122
59,122

99,222

19,022

01 At 22l bl

O HESAXI BB =28

118,244
103,244

99,222

19,022
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PN SEUAD

Ha: £X o Azl
ool stelxel X (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 51,622
= 51,622
O HEZAIXI ZA 2YHI(E2H &Y ¥
2K, Had £) 15,000
= 7,500
= 7,500
202 o4 | 6,660 6,960 A 300
= 3,330
= 3,330
01 2L HI 6,660 6,960 A 300
O MHEZAXII EXNESEZA
20,0003 «3¥ 111 6,660
= 3,330
= 3,330
HEREZ 222 11,700 6,700 5,000
201 Bt 11,700 6,700 5,000
01 AP 2t 2| H| 11,700 6,700 5,000
O Wbl 38 89 =42
1,000, 000& x92H 9,000
O ZSESANEXNI BS993 =2 2,500
O jgedz X)) 2280 O &322 X2
200,000 =124 200
EXze g2=&A 9,280 4,513 4,767
201 LBt | 6,880 2,500 4,380
01 AP 22| H| 4,000 2,500 1,500
O EXZel €2 Y S 4,000
02 2%l 2,880 0 2,880
O EXZRIYS 228 REY
22,4802 1,161. 204 2,880
202 044 2,400 2,013 387
01 2L Y| 2,400 2,013 387
O BSM4EHEA NE Y e E 28 82
ol A =X 20,000& 3% x40 2,400
Oxg XN 2= 627,763 483,432 144,331
= 319,851
= 307,912
K ZTHZEAF AFS 22 195,440 190, 582 4,858
201 2Et2A Y| 35,040 35,032 8
01 AP 22| H| 33,040 34,160 A 1,120
O XNEBHEAMANYE Zd=2 2EEHIIx=x2
45 000 »463E X| 20,835
O KNETHEZAL RFE AIRESE 7€ 2,000
O NEMHEZA g223 T2y EYH € X+
2! 3,000
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25 =l
Ha: £X o Azl
ool OXE NE 75 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O NEMZN 8952 =2 Al
8,000 x4H 90! 2,880
O BE=ZN & MHEAIEE HAl g0l 2,000
O Y3 o IS YA 448 2,325
02 E2=2=2%H| 2,000 872 1,128
O NEBTHZAAIE SORE 22
2,530 x790.5Ex13] 2,000
202 o4 | 10,400 0 10,400
01 2L HI 10,400 0 10,400
O NEBMHEZAIE 92F& |
20,000 x5 x104 10,400
301 LBt A= 150,000 100,000 50,000
12 JIEtE & =2 150,000 100,000 50,000
O XE2 2N & 850 40| 150,000
KNEHEZASSAIS 347,371 210,550 136,821
= 319,851
= 27,520
401 AlEHIZL 2 0HY| 347,371 210,550 136,821
= 319,851
= 27,520
01 Al&H| 343,371 206,550 136,821
O NETHEAIAIY ZAIS S
319,851,000 = 1Al 319,851
= 319,851
O NHMEA N7 NPARSESY 242
12,000,000 = 1Al 12,000
O NEMMEA XIF 52 JIEE e s
36,000 *320& 11,520
03 AlE 21| 4,000 4,000 0
O KNETHEZAAIE ZAIS S 4,000
ESHAED SEEXXY =X 84,952 82,300 2,652
101 21 214| 49,532 47,034 2,498
04 JIZtHIZ22XNSES 49,532 47,034 2,498
O s S) EE€XXY gREX 49,532
-Jl2a2 73,2803 x2H #2247 36,201
-FE4Y 73,280 2% +522 7,622
- HEG 200,000 x2%H x23| 800
-4} B8 = 44 621,4403 *11% 4,909
201 et 9| 35,420 21,840 13,580
02 32%H| 35,420 4,960 30,460
O Olaf&2HC SX & &8 RER2
2,530& x14,000H 35,420
F=AHERNEA 2,432,594 2,633,329 A 200,735
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SN BEUAD

e
Ha: =0

HAS FHAAS FH=X NS Sl E )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,909,598
< 245,682
= 277,314
AS FHAAS =AHAS=EKXN NE 2,432,594 2,633,329 A 200,735
= 1,909,598
< 245,682
s 277,314
FHENYRFA 15,672 13,867 1,805
201 ¢er24| 6,072 5,917 155
01 At 22l 4,770 4,770 0
O ZgH 228 ¢ 500,000 = 1CH »32] 1,500
O A=K LLEHS I8 WA
8,000& x5 402! 1,600
O S5t HES LRZM B2 ME S
60,000 * 154 900
O FHSUHAMZE EEE <& &2 MH
,000& x6IH A *13] 450
O F=A=X =& MRESFEY 80,0003 *42] 320
02 =224l 1,302 1,147 155
O FHNEXNER =3 LS 227Y 1,302
- 720
-sJ|H 2,580& *225.580H 582
202 oddl 9,600 7,950 1,650
01 = LH o4 1l 9,600 7,950 1,650
O A=K g2F2 ol 9,600
FH=0W A& 2,337,122 2,562,462 A 225,340
= 1,869,698
< 233,712
s 233,712
301 LA S 1,488,764 2,020,422 A 531,658
= 1,191,012
< 148,876
[ia 148,876
01 MEIBEE 263 1,488,764 2,020,422 A 531,658
O gx=1=n 1,488,764
= 1,191,012
< 148,876
s 148,876
403 UHXSHHS =0l & 848,358 542,040 306,318
= 678,686
< 84,836
s 84,836
02 S 2S00 Het A =8 2 & AL H 848,358 542,040 306,318
O #=dKRANF=HSN 848,358
= 678,686

- 528 -




SN BEUAD

e
Ha: =0

@2 HAS HAHNS =H=X K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 84,836
s 84,836
SHE ZOHFE JHZALY 79,800 57,000 22,800
= 39,900
< 11,970
s 27,930
307 glz2tol & 79,800 57,000 22,800
= 39,900
< 11,970
s 27,930
11T M SRAISE EX 79,800 57,000 22,800
O sHE ZOHQI==& JHEAEY
3,800,000 *21= 79,800
= 39,900
= 11,970
s 27,930
HE2LAZH(SEAUJA D) 62,759 138,526 NT5,767
= 10,000
s 52,759
Jl=&l 22,120 22,000 120
24 21224 22,120 22,000 120
201 Let24dH] 12,900 12,900 0
01 At 2teltl 12,900 12,900 0
O BAMII=3H 24l 12,900
202 O4dl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
O goige =xg 98 oyl 4,000
203 YR =2t 5,220 5,100 120
04 EASIYRFEH 5,220 5,100 120
O BA2EYR=4I
(400,000 +5,000& 7 ) 12& 5,220
23l 40,639 116,526 AT5,887
= 10,000
e 30,639
= ANE2L 29 40,639 38,345 2,294
= 10,000
e 30,639
101 @124 dl 36,590 38,345 N 1,755
= 10,000
s 26,590
03 SR (RIHY)22RHE S 36,590 38,345 21,755
O HAARHE el 36,590
-Jl2= 2,148,080 x1H +x12& 25,777
= 10,000
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